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v Semester B.B.A. 3 Exammatnon, MayIJune 201 7
(Regular) (2016-17)
- CORPORATE ACCOUNTING - I

Time : 3 Hours | o o ~ Max. Marks : 80

Instructions : 1) Write all the questions.
2) Use simple calculators.
-3) Part-1V is compulsory.
4) Use of simple calculator is allowed.

PART -1

AhsWer--any ten of the following questions:' R - (10x2=20)

© ©®N.O A W N =

— — —

14.

What do you mean by Amaigamation ?

What is minority interest ?

What is rebate on bills dlscounted by a banking company ?
Whoiis i:qmdator ? | ’
What is Holding Company ?

What is purchase price ? |

‘Give examples of preferential creditors.

What is secured credit ?

What is absorption ?

What is synergy ?

. Whatis Banking Company ?

Who is a transferor company ?

PART ~ 1|

- Answer any four of the following : I . - © . (4x5=20)
13,

Explain the met_hods-of.calculat'ion of purchase consideration.

What are the conditions for Amalgamation in the nature of Merger ?

P.T.O. "
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15. Expla'in the order of paymehts o be made by the quuidatbr.

16. X Ltd., absorbs Y Ltd., for a considerations of Rs. 20,00,000 to be satisfied in
fully paid equity shares of Rs. 10 each. The Balance Sheets of both companies

on 315! March 2014 were as follows :
Particulars Note No.
I. Equity and liabilities :
1) Share holders funds
Share capital
Reserves and surplus 2
2) Current liabilities :
Trade Payables : Current fiabilities
Total Equity and Liabilities
1. Assets : o |
1) Non-current assets :
Fixed assets :

—

Tangible assets | 3

2) Current assets :
inventories : Stock
Trade Receivables . . 4
- Cash and cash equivalent : Bank
Total assets

Notes to Balance Sheets as at 31-3-2014

Note- 1 : Share capital
- Equity shares of Rs. 10 each fully pald up
Share capital
Note- 2 : Reserves and Surplus :
. Reserves : General reserve

Development rebate reserve -

Export profit reserve .

Surplus : As per P and L A/c (profit)
Reserves and surplus

18,00,000

XLtd. Y Ltd.

- Rs. Rs.
120,00,000  15,00,000
18,00,000  7,00,000
10,00,000  10,00.000
48,00,000  32,00,000

- Rs. Rs.
36,00,000  25,00,000

500000  3,00,000

500,000  3,00,000
200000 1,00,000

| '48,00,000  32,00,000

" Rs. Rs.
20,00,000 1500000
20,00,000  15,00,000

8,00,000  1,50,000

1,00,000 50,000
300,000 200,000

©12,00,000  4,00,000
600000  3.00000
700,000
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Note-3 : Tangible Assets :

Premises

Plant and Equipments

Furniture |
Tangible assets

Note-4 : Trade Receivables:

Note : Development Reserves and Export profits are required to continued.

Sundry debtors
~ Bills receivables
Trade receivables
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20,00,000  14,00,000

13,00,000  10,00,000
3,00,000  1,00,000

36,00.000 25.00,000

1 3,00,000 2,00,000

200,000  1.00,000
500,000  3,00,000

Close the books of Y Ltd. (only Ledger Accounts).

17. SunLid. and Moon Ltd. decided to amalgamate their business and form anew .
company called Sunshine Ltd. with an authorised capital of Rs. 15,00,000
divided into shares of Rs. 1 0 each. The following are the Balance Sheets of
the companies.

Particulars

Equity and liabilities :
1) Share holders funds

Share capital

Reserves and surplus
2) Non-current liabilities :

Long term borrowing : Debenture
3) Current liabilities :

Trade payabies : Creditors

Total Equity and Liabilities

Assets :

1) Non-current assets :

Fixed assets

Tangible Assets ;: Machinery
Intangible Assets : Goodwill

2} Current Assets :

‘Inventories : Stock |

Trade Receivables : Debtors

Cash and cash equivalent : Cash
- Total Assets '

Npte No.

—

ARs.
3,00,000
1,00,000
1,00,000

50,000

5,50,000

Rs.
3,50,000
50,000

80,000
. 40,000

5,50,000

SunLtd. Moon Lid.

Rs.

4,00,000
(-) 60,000

3,00,000

60,000

40,000

10,000
4,10,000
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_Notes to Balance Sheet as at 31 -3—201 4

Rs. Rs.
Note—1 Share Capital : - o .
...... . Shares of Rs. . .. each fully paid 300,000 -4.00.000
- Share capital _- 300,000 40,000
Note-2: Reserves and surplus : A | -
 Reserve Fund 60,000 -
Surplus : Surplus or deficit | 40.000 (-)60.000

Reserves and Surpius - 1,00,000 (-)60,000
The following are the terms of agreement : ' o

1) The assets and liabilities of Sun Ltd. are to be. taken over at book vaiues.
- Except goodwill, machinery and stock which are to be valued at Rs. 1,00,000,
Rs. 3,20,000 and Rs. 90,000 respectively. ’ : :

2) The Assets (except cash) of Moon Ltd. are valued at 10% less than the book
value and the creditors are taken over at book figure.
Calculate purchase consideration.

18. The following parttculars are extracted from the books of Dhanlaxmu Bank Ltd.
forthe year end:ng 31-3-2014:

: : ‘ Rs. _
_1) Interestand discount - o 190,00,000
2) Rebate on bills discounted (on 1-4-2013) | B 40,000
3) Bills discounted and purchased o . 25,00,000

It is ascertained that the proportionate d:scount not yet earned on the bills
discounted which will mature during 2013-14 amounted to Rs. 50,000.

Pass the Journal Entries adjusting the above and show the Interest and
.Discount A/c and Rebate on Bills Discounted Account.

PART - 1Ii - |
Answer any three of the following: =~ -{3x10=30)

19. The Avantika Ltd. went into voluntary liquidation on 31 A12 2016 on which date
dividend on the preference shares was in arrears for one year The capital of the
company consisted of

a) 1,000, 8% Preference shares of Rs. 100 each fu!ly pald
~ b) 1,000 Equity shares of Rs. 100 each Rs. 80 paid..
c) 2,000 Equity shares of Rs. 100 each Rs. 70 paid.
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The assets realised Rs. 1,30.000. The expenses of liquidation came to Rs. 4,000.
The liquidator is entitled to a fixed remuneration of Rs. 12,000 in ail. The unsecured

creditors were Rs. 56,000 mcludmg Rs. 8,000 preferential creditors.

The preference share holders have priority over equity share holders with regard
to payment of capital and dividend as provided in the Artrcles -

Prepare the Liquidator's Final Statement of Account assuming that the necessary
caHs which were duly received for payment to Preference Share holders.

20. The following are the Balance Sheets of A Lid. and B Ltd. ason 31-3-201 6

Partlculars

{. Equity ahd Iiabilities:
1) Share holders funds
Share capital |
‘Reserves and surplus 2
- 2) Current liabilities : o |
~ Trade Payables =~ . 3
Total Equity and Liabilities
Il. Assets :
1) Non- current assets :
- Fixed Assets : : :
‘Tangibie assets : Fixed assets
2). Current Assets :- :
i inventories : Stock A
' Trade receivables | 4
Cash and cash equwa!ents Bank
Total Assets

—

_Note No.

ALtd.
" Rs.

- 2,70,000

- 50,000
- 95,000

10000 -
250000

4.25,000

Notes to Balance Sheet as at 31-3-2016

_ Note-1 : Share Capital :

- Equity shares of Rs, 10 each fuﬁy pard

Share capital
Note-2 : Reserves and surplus : -
Reserve : Reserves fund
Workmen’s compensation fund
Reserves and surplus

Rs.

3.00,000
-3,00,000

60,000

B Ltd.
Rs.

1,50,000
150,000

50000

1,40,000

40,000
64,000
6,000
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21.

Note-3: Trade payables - _ :
* Sundry creditors | ' 60,000 40,000

Bills payables 5000 10,000

| Trade payables 65,000 50,000
Note-4 : Trade Receivables : B o

Sundry debtors : _ 80,000 60,000

Bills receivables 15,000 - 4.000

Trade receivables - ‘ 95,000 64,000

‘Both the companies have agreed o amalgamate and form C Ltd. WhICh will take

over all the assets and habllltles of both companies.

‘a) The share holders of A Ltd. are issued 4 shares of Rs. 10 each at Rs.12

per share in exchange of 3 shares in A Ltd.

b) The assets and liabilities of B Ltd. are to be taken over at book values
subject to 5% provision on debtors and bills receivabies and 10% depreciation
on Sundry, Fixed Assets, Goodwill of B. Ltd. was valued at Rs. 25,000.

Compute the Purchase Consideration and prepare the Balancé Sheetof C Ltd.

The following is the mformatlon of Samruddi Bank Ltd. for the year endmg
31-3- 2016

: _ B A , Rs.
Interest and discount ' S ‘ -1 5,'000
Interest on deposit T ' 32,500
Interest on'b'orrowi_ngs from R.B.I.. : ‘ o 7,500
Income on investments o . A 10,000
Profit on sale of investment . | | - 5,000
Interest on balance with R.B.I. - - - 5,000
Commission, exchange and brokérage o | 40,000
Rent, taxes and lighting '_ | | 10,000
Payments to and provisions for employees o 35,000
- Advertisement and publicity ' | B 3,000
Printing and stationery , - 7,500
Director’s fees allowance and e.xpenses A A A : 6,000

Depreciation on Banks property A ‘ ‘ L 2,000
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Auditors fees and expenses | | 4,000
Repairs and rﬁaintenance ' : S | _ 3,500
Postage, telegrams efc. | . - | 1,000
Lawcharges - . _ 2,500

~ Insurance : ' ‘ : o _ 500
‘Other information : '
a) Provide for income-tax Rs: 5,000. .
b) Provide for bad and doubtful debts Rs. 3,000.
¢) Provide for rebate on' bills discounted Rs. 2,000.
- d) 25% of the profit to be transferred to statutory reserve.

e) 10% of the profit to be transferred to general reserve.

Prepare the profit and loss Account for the year endlng 31 3-2016 and also the
- necessary Schedules.

22. Distinguish Merger from purchasé method of Amalgamation.

- 23. Write a short note on :
1) Non-performing assets
2) Rebate on bills discounted
3) Slip system of postings
4} Secured credit.

PART - | |
Compulsory: -' ) » (10x1=10)

24. The following were the Balance Sheets of H Ltd and S Ltd. as on 31-3-2016
from which prepare Consohdated Balance Sheet.

Particulars - : . Note No. H Ltd. S Lid.
. Equity and liabilities : - " Rs. 'Rs.
1) Share holders funds : ‘ ‘ |
Share capital | 1. 5,00,000 2,50,000
- Reserves and surplus -~ 2 - 90,000 90,000
2) Current fiabilities : o ‘ |
Trade payables . 3 30,000 40,000

Total equity liabilities D 620,000 3,380,000
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I, Assets:
1) Non current assets - o _
Tangible fixed assets : Fixed assets '2,00,000  1,50,000
Non current investments 4 250,000 80,000
2) Current assets : _ :- - |
Investments : Stock | .. 70,000 75,000
Trade receivables - 5 55,000 50,000
Cash and cash equivalent : Bank . 45000 - 25,000
Total Assets - | o 6,20,000 3.80,000
Notes to Balance Sheets as at 31 -3-201 6
- "Rs. Rs.
Note-1 : Share capital : T ' '
Shares of Rs. 10 each fully paid up " 5,00.000 2.50.000
- Sharecapital o - 500000 250,000
Note-2 : Reserves and surplus : ‘ : :
General reserve - ' 60,000 50,000
Surplus : Credit balance in PandL A/c _ 30,000 40,000
" Reserves and surplus 90,000 90,000
Note-3: Trade payables : ‘ ’
© Sundry creditors - - 20,000 15,000
~ Bills payables - - 10000 25000
‘Trade payables S 30,000 40,000
- Note-4 : Non current investments . : .
20,000 shares in S Lid. at cost o 2,50,000 -
_ in government securities . — 80,000 -
| Non current investments ‘ 250,000 80,000
" Note-5 : Trade receivables | S o
Sundry debtors C A 40,000 35,000
Bills receivable S - 15,000 15,000 -
Trade receivables : - 55,000 50,000

1) When the H Ltd. acquired the shares in S Ltd. the latter had Rs. 20,000 and
Rs. 15,000 to the credit of General Reserve and Profit and Loss Account
respectively.

2) Bills payable of S Lid. include Rs. 5,000 accepted in favour of H Ltd

3) The debtors of H Ltd. inciude Rs. 2,500 due from S Ltd.

4) The stock of S Ltd. included Rs. 12,000 supplied by H. Ltd at cost plus 20%.
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IV Semester B.B.A. 3 Examinatioﬁ, May/June 2017

MARKETING MANAGEMENT

(Regular) (2016-17)

T:me 3 Hours

Answer any ten questions. Each question carries two marks.
1.

2.

10.
11.

12.

Instrucnons 1) Answer followmgs to the point.

2) Provide examples wherever necessary

3) Part - lV:s compulisory.

PART — |

What is Marketing Management ?

Define consumer buying behaviour.

- Define Customer Relationship Management (CRM).

What are- apostles ?
Define Co.mmunicat_ion. -
Define Advertising.
Expand .DRDA and KUIC.

What do you mean by Rural Marketing ? -

- What do you mean by Global Marketing 7

What is exporting ?
What is buyer adoption ?

List the objectives of IMC.

Max. Marks ' 80

(2x10=20)

P.T.O.
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PART -1

Answer any four questions. Each quest;on carries five marks : (4x5=20) |

1.

2
3
4.
5
6

- Expfain Licensing and Franchising.

DISCUSS the dlfferent types of buymg dec:s;ons behawour in brief.

. Write a short note on 'speech recognition’.

- What are three pillars of relationship marketing 2

Give steps involved in developing an effective IMC programme.

. Highlight the challenges in Rural Marketing.

PART — I

Answer any three questsons Each ques’aon carries ten marks. ' (3x10=30)

1.
2.

Descrlbe buyer decns;on process in detail.

What is customer centre technology ? Explain Interactive Voice Response (IVR)
in detait. : -

What are advantages and disadvantages of IMC ?

What do you rural marketing environment ? Discuss the demographic and
physical environment in detail: o A _

Explain market entry decisions in detail.

PART - IV
(Compulsory) _ (1x10=10)

Discuss Four A’s of Rural Marketing.
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IV Semester B.B.A. 3 Examination, MayIJune 2017
(Regular) (2016-17) ’
COMPUTER APPLICATIONS IN BUSINESS

Time:3Hours = . Max. Marks : 80
Instruction: SectionD is compulsory.
SECTION-A

l. Answerany 10. : (2x10=20)
1) Whatis D.B.M.S. ? | |

2} What is IP address ?
3) Define core banking system
4) Whatis E- busmess ?

'5) What do you mean by Anti virus ?
6) Define Foreign Key. ’
7) What is web browser ? -

8) Define shopping cart.
9) Expand RTGS and NEFT.

10) What is E-cash? |

11) What is E-mait marketing ?

12) Define buyer and seller.

SECTION-B

il Answerany 4. _ | : ‘ (5x4=20)
13} Define E-Commerce. Listand explain the types of E-Commerce. '
14) What is Internet Marketing ? List the advantages of Internet Marketing.
© 15) Whatis ER-diagram ? Explain the symbols used in ER-diagram.
16) With neat diagram explain the structure of HTML. ‘
17) Define Internet Security. Explain the security issues related to E- Commerce _

18) What is Electronic Payment System ? Write the advantages of Electronic
Payment System. A A
_ P.T.O.
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SECTION-C

HI. Answerany three. (10x3=30)

19) Write HTML. code to design E-rhail registration form with following fields
First Name, Last Name, Username, Password, Gender, | Agree”, Submit,
20) What is EDI ? Discuss the advantages and disadvantages of EDI.

)
21) Explain Network topologies with neat diagram.
22) Whatis Internet Banking ? Write advantages and limitations of Intemet Banking.
)

23) Write short notes on (any two) :
a) Network types
b} Mobile banking
¢) Endusersin DBMS.

SECTION-D

24) Create table Emponee in Oracle/My SQL. with following flelds
Empname, Empld Empsalary, Empdept, Empc;ty Insertflve records

Answer the following queries :

a) Display all records.

b) Update Salary by 5000 of all employees.

c) Seiect Empname Empld and Empcity.

d) Display empioyee details whose salary is greater than 10,000.
)

e) Delete employee whose Empldis “005”.
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v Semester B.B.A.3 Exammatlon, Mayldune 2017

ORGANIZATIONAL BEHAVIOUR
(Regular) (2016-17)

Time : 3 Hours

Answer any 10of the following.

1.

-t eh
= O

© ©® N ® o » @ N

Instruction : Section D is compulsory.

Meaning of organizational cuiture.
Whatis Type A personallty ? .
Define group |

What are attltudes ?

.. Whatis group cohesiveness ?

What is Hallo effect ?

What is heredity ?

What is organizational change ?

- Whatis anthropology .

Define stress.

. Difference between introverts and extroverts.

Listany 2 challenges of organizational behaviour.

SECTION-A

Max. Marks : 80

(10x2=20)

P.T.O.
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_ __ SECTION-B |
Answerany 4of the foiiowing. S L : - (4x5=20)
13. 'Explain importance of organizétiohai behaviour. |
14. Explain perceptual process.
15. DiscuSs Tri component model.
16. Briefly explaih factors influencing perception.
17. Explain types of Culturé. | |
18. Explain stages of group formation.
| ~~ SECTION-C
~ Answerany 3of the following. -. P | |  (3x10=30)
19. Explain group decision making techniques. | |
20. Discuss causes of stress and met.hods of dvercome job stress.
21, Explain various methads of _ové_rcoming_ feéistance to charige. ’
22. Expiain the various contributing disciplines to O.B.
. 23. Explain psychoanalytical_'iheory.
| SECTION-D
(Compulsory)

24. Explain different models of organizational behaviour. (1x10=10)
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w Semester B. B A3 (Regular) Exammat:on, Maleune 2017

OPERATION RESEARCH

(2016 -17)

Tlme 3 Hours

Answer any ten of the'fol'lo_wing._ Each carries 2 marks.
!

I I

10.
11.
12,

Instrucﬂon Simple ca!culator is allowed.

~ SECTION-A

Define unbalanced transportation problem.'

Define balanced assngnment schedule.

Define Saddle point. . _ B
Name the models of operation research.
Define L.P.P. I

Solve the followmg game by using minimax method.

A, :1 -1 ¢1
Al-2 2 -2|

- What is non-degeneracy ?

Define assngnment schedu!e

'Defme slack vanable

Define mixed strategy.

Name the methods of transportation problem. |

What are the methods of game theory 7

Max. Marks : 80

(10x2:20)

P.T.O.
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SECTION-B
~ Answer any four of the foliowing. Each carries 5 marks. (4x5=20)

13. Solve the following transportation problem of using North-West Corner Rule.

D, D, D, D, | Available |
o | s 3 6 | 2 19
o, | 4 | 7 | e | 1} 37
o} 3 4 7 5 34
Required | 16 | 18 31 25

14. Solve thefolloWing assignment schedule.

M | oM [ oM oM

wo| s 26 | 17 | 1
W, 13 28 4 | 26
w, | s | 19 | 18 | 15
w, | 19 | o9 24 | 10

15. By using principles of Dominance, find the value of thé game. Is the game fair ?

Player B
_ B, B, B; B,
A3 2 0 8] -
Player A A,[ -1 -3 0 —1|
Al-3 4 -3 0
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16. A firm manufactures 2 types of articles. i.e. Aand B. These articles fatch a profit
of Rs. 200/- and Rs. 300/- respectively. Type A article requires 10 meters of red
wool, 15 meters of blue wool and 8 meters of green wool. Type B article requires
15 meters of red wool, 25 meters of blue wool and 8 meters of green wool. If the
firm has a stock of 100 meters of red wool, 250 meters of blue wool and

. 170 meters of green wool formulate the L.P.P.

- 17. Calculate the tranSportation cost by using matrix minima méthod.

A B | C D | Available
o 1 2 3 4 6
o 4 3 | 2 | o 8
I 0 2 2 | 1 | 10
Required | 4 | 6 8 6

18. Define opération_ research. What are the limitation of operation researt;h '7
o SECTION-C n |
Answer any three of the follow:ng Each cames 10 marks | . (3310:30)
19. Solve the followmg L.P.P. graph|cally
Maximise Z=100x + 209 "

Subjectto, -
X+2y > 20
2x + 5y < 80
x>0y>0

20. Solve the following assignment schedule.

I i mo| oW v

A — 10 25 25 | 10
8 -1 [ - | 10| 15 2
c 8 9 ~ | 20 | 10
D 14 10 24 | - 15
E

10 8 25 27 -
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21. erte short notes on the followmg
a) FairGame
b) Pure strategy

c) Degeneracy
d) Simplex method.

22. Solve the following L.P.P. by uSing simplexmethod. -~ .

- Maximise Z = 4x, + 10x,°
Subject to, :
12X, + Xp < 50
2x, + 5%, < 100
2x4 + 3%, < 90
2 0, le 20

23. Solve the following game graphically.

(T

(1x10=10)

B, B,
Al-2 0]
A, 3 -1
A,i-3 2§
Al 5 -4
SECTION-D
{(Compulsory)
24. Solve the following transportatlon problem by usmg Vogel’s Approx&matron method
and test its optimality. '
D, D, D, D‘AA Available |
'01 11 | 13 | 17 | 14 | -250 A
o, 16 18 | 14 | 10 | 300
o, | 20 | 24 | 13 | 10 400
Required | 200 | 205 | 275 | 250
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Fourth Semester All U.G. Degree Course Examination, May/June 2017
COMPUTER APPLICATIONS (Compulsory)
(Regular and Repeaters) (2014-15 Onwards)
(New Syllabus)

Time : 9.30 a.m. to 11.00 a.m. (90 Minutes) ~Max. Marks : 80 -

- Instructions : 1) The question paper will be g;ven inthe form of a question
booklet.

2) Immediately after the commencement of the examination,
the candidate should check that the question booklet supplied
to him contains all the 80 questions in serial order. The
. quest:on booklet does not ha ve unprinted or torn or missing

' pages and if so he/she should bring it to the notice of the
“Invigilator and get it replaced by a complete booklet. This
is most important.

3) Page No. 16 of the question booklet may be used for

' rough work.

4) Eachquestionis prowded with four choicesA, B, CandD
having one correct answer. Choose the correct answer and
darken the bubble corresponding to the question number
using HB pencil in the OMR answer sheet. '

5) Each correct answer carries T mark and no negative mark
for unattended questions.

6) No candidate will be allowed to !eave the examination hali
till the end of the session and without handing over his/her
Answer Sheet to the Invigilator. Candidates should ensure
that the Invigilator has verified all the entries in the Register
Number coding sheet and that the Invigilator has affixed
his/her signature in the Space Provided.

7) Strict compliance of instructions is essential. Any malpractice
or attempt to commit any kind of malpractice in the
examination will result in the summary disqualification of the

candidate.
1. Hard disk is an example of
T B, QT 7 NTHETEBOINGS:
A) RAM ' | B) ROM
o , R |
C) Primary Memory D) Secondary Memory P.T.O.

mEses C Sngadios
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2. TFT stands for
83.05°. 3.0 a~d—a o nyos]

A) Thin Film Tube ) - B) Think Flat Tube .
Q¥ @t wRw L pom R, wmw |
C) ThinFast Transistor "~ D) Thin Film Transistor
O TRAERRS A
3. inthe mouse scroll Wheel is used for _. '. :
- AR M o), TN euRodeened.
A) Page Up | B) Page Down
 Berex S e ds
C) Page Right D) Both A)and B)
Jex g ) W) 0B8R

4. Alistinstructions given to a computer for solving a given problém is
RS, 03R0%33 waaadmﬂ %o@%waﬁ VBT VTSeF BING odm&)odaab SNFCBORCDNT.

A) Soﬂware R B) Hardware
3059,03 o L chomed

C) Programmer . -D) Data
TRV ' . Tmo8

5. NIC stands for
Q. 3035, 2. OTT
A) Network Interface Card
ST T QOLIT R T
B) Network Adapter
S IO

| C) Allows Computer to talk each other
wd_;d RB0F3N ~@0§) E:badogd A

D) All of these
30edT QP

6. in computer system ____isavolatile memory.
CREOSRILOS___ eeadeebsps
A) EPROM  B) ROM C) RAM D) PROM -




A A I ._ | | s

7. Thevalueof 1 byteis _
1 Jera s8Rl SNG, |
A) 4 bits " B) 10 bits C) 8 bits

4 2N 102‘;)_&3*7{@3 . 823&3‘7’1533

8. DRAMis an acronymfor
- DRAM @020t 9wt Noﬁww '

A) Dynamic Random Acoess Memory
' dmv 09,00 &385° Boed0d

'B) Dlgital Random Access Memory -
B33 TY0@0 e85 BoBed

C) Dynamic Refreshed Access Memory
BRT 032 B Boaed

D) Digital Refreshed Access Memory
R DPTE 585" ROWRO

9. USB is which type of storage device ?
USB 020003 0dREs 25300 Rors, @8 Sgsesonds 9

10907/D 970

- D) None of these

oIREIB €58y

A) Primary ~ B) Secondary - C) Tertiary D) None of the above
GopteneL I Qgeads Fdeod® 00T oIRJTH e
10. Intelisa |
QOIC® 20T . _
'A) Microprocessors - B) Indian Agency -
d%ﬁr_a)e“t’@)eﬂﬁc‘ L U8R 0u).
C) Neither A) nor B) ‘D) Both A) and B)
D) TR W) ORR e . - @) T W) Q.

11. Operating System is
TODF VR BE ?%5:3 LAY &,oab

A) Interface between humanand computer
TRTI 33333 FOTRRT SBIIS BOLIT Fea®

B) Manages hardware and software resources
- 030023,08 T2 30T, osmsm AR BHR mm@m
" C) Both A) and B)
o) ) aon
D) None of these
CINFHTR €0,
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~12. In calculator window has following menus

T, Bet3T QOBPATY, | RN pelevc ot
A) File -> Edit -> View -> Heip B) File -> Edit -> Insert -> Help
0" > QW -> 36T > GO FL° > BT > BRTREE -> B
. C) View->Edit->Help =~ D) Aliof the above
D > 0 > B, | - 20eOD QIR

13. Recycle bin contains
ORB* VI 83 BSNSINIR), w}ﬁmo@dxe’d

A) Deleted files from the hard drive
BT 8 & 00T BT BB

'B) Deleted fsles from removable drive
@dmaﬁewef =Joug Q0T RETHET TSR

C) Deleted programs from the hard drive
T B STR0T SREITIBOOW TR, 2R

D) Both A) and C)

)-e:beb R) NOBR
14. By default pamtprogramls presentin gfoup.
RBsEsoN oty TR0 new a‘»e; peleecial
A) startup -+ B) main
AT T S
C) accessories D) None ofthese
DRROER odoa@ci:a SN

15. The MS-DOS operatmg system is developed by :
: DONT— TERT FOCI Qe BESD Qaﬁﬁo&:ﬁo el aﬁm@,odﬁtb

A} Microsoft Corporation B) Word Star Corporation
BBReTT, FoTIREr BRI L BEF D @wperc?m&‘
C) Lotus Corporation " D) Sun micro
BRE3TT TP EF BeRN® : R’ Bdee
16. In windows to insert extended characters that are not found on keyboard we use
DOBRETFIE, ANRTT DFF BTN HedRe0 [0 _ - GUR03ReNROBeES.
A) CardFile B) Note File |
TEF PO - Seetr FOr
C) Character map D) Terminal
5,080° SRT* - £30FIS°
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17 A computer cannot BOOT if it does not have the |
rae&zﬁti %oq%&sc‘eﬂab *gdoz:wvo 90038 ‘2RI IRWED & wzﬁzsmm@ao

A) Compller _ B) Loader
0T, L0° - deerEs®

Q) Operatlng System o © D) Assembler
ST eLIoN® AR ' - e&o&gp"

18. Which of the following is not valid version of MS-Office 7 - |
= @#ﬁd@ﬁ#@ CSTRIT 0. A LR B, iai)zod eRdobey 7

A) Office XP _ B) Oﬁlce Vlsta
SRR TR AT DR

C) Office 2007 ' D) Office 2010
SRR 2007 _ sQex*2010

19. Control panel prowdes options for
RodoZes TS B IPNSIE, SO3NTI) udmzﬁ

A) Adding new hardware
| R T IO BemE @

B) Adding/removing programs
aqﬂorﬁ,mﬁe}di ReORITHT/ SRDOTRRT
C) Managing users '

WO DR RHTE g -
D) Allthe above -
BoeDT VP
20. Timeis displayed on | part of the task bar.
ERRY, 1R0° | W03, FFOTI) BeeORTT. | |
A) Left - B) Right C) Center ' D) None ofthe above
NS O SBES BT CIRJTe @Y

21. MS-Word automatically moves the text to the next line when it reaches to the
right edge of the screen. This feature is called A
Q.. BEE BT Tode DGR 30300 O BORROS ZREBTI, B3 BRI

200> B30T,
A) Word-wrap ' B) Word-formatting
BDEF TYT | _ S 0y, Lon®
- C) Word-style . D) None of the above
SaEe-3,0° : BT IRPTHO &Y
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22. Which of the following can be created by the mail merge command
e RN ITPOBROT T FSNTINTY, oI, fo&wua}da 9

A) Formletters B) Envelops
SFONT) draReD o O

C) Mailinglabels | D) All of these
Boedion”® Serer Qas)ﬁeﬁe‘) ao@r\

23. Whatis the default font size of MS Word document based on normal template ?
ROTRT, 1305308 esc:aﬁa’;sad Q0.7 FE'F DS GRS MR, ?

"A) 8pt- By 10pt C)12pt . = D) 14pt
24. Super script command is availablein | cdmmand set.
ARTT 3t LB &T3e8 THoRTOTOBE.
A) Clipboard - B) Font C) Paragraph D} Style
T RReT _ Sanle s TOIMRF ;zdef

25 What is the minimum number of rows and columns that a word table in
MS-Word can have ?

R0, S R e FpoToed B, GRnid o Fore AT Hos
Qw ?
A) Zero " ' B) 2 rows and 1 column
N.ra% . _ QTR Mo =02 200D TOORIF
C) 2rows and 2 column D) 1 rowand 1 column

QBB TN abég DO BORTNL 2,003 T 303 2,000 BOZIE

26. Which feature enabies us to send the same letter to different persons ?
2,083€ aigdﬁs 23eq e3ed dgs_prf@rﬁ FROZRED "'aqs’ TOTROS BTN DEOS CIRYT ?

A) Template B) None - () Macros D) Mail Merge
aéoaﬁeésf | om@ds ¥y BRI Boeer W'
'27. File extension of MS Word 2007 is
Q0. 9. BE'F 2007 %wm@mg’g =/lescind
A) Xlsx | B) .doc C) docx D) None

28. The temporary name given by the MS-Word to a newly created document is
BRAN 3OO TDSK 0. &5 . BaFF Bz dEmN QETW BATY

A) Document 1 _ . B) Worksheeti
w8008 1 | D
C) Graphics 1 D) Picture 1

roes° 1 R &ﬁpﬁ
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29. InNH;the character “3” has to be below, which effects has been applled ?
NH, @ow@ “3" Qow eaéd é’%*ﬁdéﬁda f&d@h o G csab SUBO3RENRSONTS ?

A) Lowered : B) Super script
dr\edcsa . ' - Ao’ ?3)@‘
C) Subscript | D) Laid down
Nwd&w ) - @G‘ @O

30. Atime saving feature used for qunckly copylng the format of a b}ock of text in
MS-Word
D0.F°. T FIYTT 2,000 BELRNT ssmsm 3PN JFO BRTED
2088 20T TS em@aaodatﬁ QTS oo 7

A) Format Copy _ B) Format Paste,
PR WL TOTR 3 WA,

‘C) FormatPainter” D) Format Paint
00y 437 TeotsD” o DY deos

31. Td edit a cell content in MS-E'xceI we have to
DT, . BTG, ﬁme@ﬁd@( B3I BN

A) click on céll ~° B) doubte click on the cell
83T Boed 35° InEIeD> T 33 Bed 0D 85 Swdesd
C) right click on cell : - D) None

333 we wHD ﬁaeeﬂ 35° SRl oﬁn@d@ ©e,

32. In MS-Excel, which formula is used for combining data in two or more different
- cells into one cell ? '
0. IR, aﬁefﬁe‘) DT €330 w@ﬁ &)&)cﬁ BRe3NIOS a’m&x%odasa 200386
Roo3Reess BRGELD PREAS ARG, CIRYT 9

A) CONCATENATE B) COMBINE
C) TYPEDEF | D) INCLUDE

33. Tofindthe average of numbers stored in the cell C1, C2, C3 C4 D1, D2, D3
and D4 MS-Excel formulais |
C1, C2, C3, C4, D1 D2, D3 mons D4 Nefr{e}@dod Roagne NODNOod)a'b
BOTEBRODEO . IR, FBL'S AR

A) =avg (C1: D4)
B) =average (C1::D4)
C) =average (C1::C4,D1::D4)
D) =average (C1:D4) |
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34. In MS Excel, intersection of row and column is called as

0. L. aﬁpﬁée‘l @02 TR eac%mwr{eé mo§§ - : e@d). '
A) Sheet B) Workbook  C) Cell D) File
deer B AV Aee SRSy

35. Function in spreadsheet involve
3 B SOmR Regrith SINSNYR) 1ertpoas
A) Cell addresses, value and text
Ber DR, SR RoF) HEF
B) Cell addresses, values and mathematical operators
R TR, TN o8y NE33e030 BTSN

C) Cell addresses and labels
ReF QYRR 308 Sew e igd

D) Cell addresses and values
BT QRN 38 BFQND

36. InMS Excel ¥ is usedtoperform _____
0.0, FBFRY 2. D), ___ SoDFEN WSS,
A) Addition B) Subtraction C) Multiplication D) Division

37. In MS-Exce! which among the following functions is not a statistical function ?
Q0. T, DB B3 FINT CIN T W) LRTS OB 90 T
A) Average B) Count C) Rate - D) Max
Vel - Fo0eF S o BRT

- 38. Spread sheets basically help us
BORE BHFNW TReSs 0T FB0D BREIT 7

A) Financial Calculation B) Business Calculation
BB SERF BB FRTHON SEIRF

C) General Calculation | D) All the above
RO, dﬁﬁadrasfé - B0eOT QTP

39. In MS-Excel the INT () display _ . :

2007, SR INT () ABer3sY __ olervciag

A) Integervalue B) Factorial value .
QOLINT® 559,00, . TRBREO0D® LY

C) Modulus =~ D) None of the above

BREYOF SoeIR BVJTR By
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40. ___isan example of chart.
S8R facb 20T TTOBTE o
A) Bar - B) Sum -~ C) Pie D) Both A) and C)
Tt . - 3 ®) TR &) IOBR

41, To add graphics, date, time, sound clip or video clip to a presentation, select the
T[EBrIE 1T, DTV0E, BB, Fow® §5° T LRO3RE ey 503y RnExn

A) Home B) View C) Design = D) Insert
BRI Ay AR T o
~42. Thereare _ different views available in MS-PowerPoint.
0., TTWO OO I, DeS0 NG JpeEINEH oedd
A) one B} two ~ C) three D) four
WOT - QTR - RDoedd Do),
43. In MS-PowerPoint Spelling opi_ion IS present in | command tab.
Q0. TRTTTONFRD, Qo &Y __ BRROE° tRWTRA,
A) Home B) Insert ~  C) View D) Review
TR DRI Qe | oD
44, '_In MS-PowerPoint Drawing group is available in _ tab.
0., T TONCEF DY, TWCWON' RAT __ 08,
A} Insert . B) Home C) View D) Design
A RET - BeeT . Ao ‘ 2oy
45. In Microsoft powerpoint two kmds of sound effect files that can be added to the
presentation are .
BBRETT? | ST TDOWFTY, TR 0ed0 emcﬁ Boromns ﬁz@émfds VTR
ruemwa)mhd:@ab o
A) .wav and .gif files - B) .jpg and .gif files
C) .wav and .jpg files D) .wav and .mid files
46. | presentation is most suited for a new user.
BRA WHBETIR C{an ) %ei% 03ReT DT
A) Auto content wizard B) Designtemplate
36300 BRODTS VT E DR WoReer
C) Blank o o D) None of the above

hple. o : - 00O oIRFER By
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47. Which of the following can be used to add time to the siide in a presentation ?
B3 SPNTYNSE, CIDREI), BRosdede” Segod, ReO0ITI), AR 2RSS ?

A) Rehearse Time | ~ B) Slice show menu
DBATE EJT° o : R A Be B0

C) Slide transition button . D) Allof the above
3 & R3S Lk - - BB 2P

48. Theboxes that are displayed to indicate that the text, pictures or objects are
| placed in itis called | - ’ - |
o_',dﬁésﬁe:o, 2Zed Tone BRINIQRIAR, u@ﬁmo@&@dﬁg‘ ROUAOI za’aﬁzﬁeédgi

DT FBCSNZT, .
A) Place holder R B) Autotext
ﬁ@eé &t | : 5;0'530 336% |
C) Textbox o D) Word At~
=g 38 . 930 33
) ‘ <ahy
49. | shortcut key is used for inserting clipboard contents at the

~ insertion point in powerpoint presentation.
| O RSF S TR, T RREEE BRI RNeORLD
ZobT F e 3eDOR) CUDOIRENRITT. '

A) Cri+Y B) Cirl+ K C) Ctrl + Vv D) Ctri+Z
50. In MS Powerpointto hide slides select steps should be followed.
R DO FROVOFIY, B BT, OBRNRLO BOITI), B0% DRI
A) Slide show — Hide slide - - B) Format — Hide slide |
3 0 Boe = B R ' PO RS — TR E
- C) View — Hide slide | D) Insert - Hide slide
Loy - BT R ORTARFE %zs‘édzs‘

51. The objects that are not present in MS-Access.
.. IR, QLTI WA POV 3 »
A) Reports .B) Modules . C) Status D) Macros

=00 Sedyer, AR A
52. - is a systematic way of representing information.
_mwmg&mmmsma L -
A) Pages | - B) Summary
Punsd . B RT08
C) Reports : D) Note

madid | asmpsris
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53. RDBMS means

RDBMS «0t33 _ | |
A) Random DBMS - 'B) Rotational DBMS
C} Relational DBMS - D) Rational DBMS

54. Todisplay relationship between tabies in database we must press
button in database tool.

DR URTTIRTRY e Tie SO Rowor ZRBFReD W 23ededd
A} Analyse 'B) Code C) Properties 'D) Relationship
OSCRT B | WICUR BB BT
-55. The upper and lower limit of values that can be input into a field is called
RS Széo a’né) BE33003 QODD fzwegés‘ ISR Q0T
%80:&33335 -
A) Domain B) Spa‘ce - C) Field D) Range
- Bedet e e, Beoes® -

56. What is not possibie in MS Access forms 2

Q0. 7. BTG CARITD WG ?

A) Allows to display only single record
2,0T3¢ m&)cﬁcﬁ)@t BReOROJT

B) Calculate totals
230 draga%dgt dgmﬁoqﬁ)m

C) Showing graphs
38 BeoRoPD -

D) Allows to perform data validation - :
W T,OBEEBI BWRWLO ems fatb@d;

57. What is the maximum length of atext field in MS-Access ?
Q0. T, HEFIY, T DORBITRT TONY %egd nom, o D, ?

A) 512 | B) 50 C) 255 D) 250
58. MS Accessis __ soﬁware R
D0 T, BT 20T e, A |
'A) DTP B) Spreadsheet C) Database D) None of these
RS . ApErbe £DIRSIN OIRPTR €Y.
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- 59. In MS Access primary key is -
DR R, DY, TR T 3¢ 003

A) Unlque field that identifies each record stores in table
DO TSI, T8RRI 388 éma“%fd@oia 3¢,

B} A field that has a text value for each record
T 303207 TN &)&7% ?3@3033331 BRODBR i@_@’j

C) Afield that has unique value for each record
30300 RSN 1ed Wed A Sleve ) TROQT ¢e,

D) Both A) and C)
R) FoR) &) DTER
60. Different methods of creating FORM in MS-Access
0. R, MR, ORI, BC3RORED [TV QXIT DGNED
A) Create a form in design view |
TR BT, PO F LR SURTFI
B) Create form by using wizard
TR, VR0 ENBROR) ORI F TR
C) Both A) and B) |

) =02y W) QORR RSB
D) None ofthese
C3RITR &),
61. In MS Access object is used to data evaluation,
Q0. . HBITY, 23673 ek BEm 0BT TN RSRITT.
A) Table B) Query C) Form D) Report
tdee® | 30 TR - OgpeEFE
62. Database means
TR0 BONE 003
A) Collection of related data
NO&)O@S ESB'DOSK%” ~O§S

B) Collection of logically coherent collection of data
aodamudmﬁ Neﬁiraofscbd Nouot;é o0 Ron®

C) Both A) and B)
) Y] zb) QTER
D) Noneofthe above -
BoedS CIRYTe B
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63. Foliowing is not a data type in MS Access
DRT. T, BT FINT CIRFYRD et 85 @ 9
A) Text B) Data C) Date - D) Autonumber
| 635 wdeed ™08 estdpesows”

64. Following is not MS Access database objei:t
B3 IINSINIY, 0INJTD 0. T, IBIS B3 B e

A) Tables : B) Relationships
teoer OSeT o5
C} Queries : : D) Reports
8 O “ o OFpets’ s

65. A record in a table is called
20T B8Ot Sew e @otﬁ_d’ ,
A) Row - B) Column C) Box D) Line
e T ant g

66. Set of rules in a communication network that governs the transmission of data is
T30 BROESSTIHES ROSTES WOWORTYS Jodxne ried

A) Internet _ - B) Host Network
e0TWF® : TR, ST

C) Protocol | D) Communication link
Fprinemer | RODTES BR0R

67. The main characteristics of a MAN are
SIRT (MAN) & 20080, rosaegansons

A) Covers a wider geographical area than LAN
- WRFNELR QMTIE FPRReE R e eIt
B) Operating speed is very close to LAN
FOOIRFWEBFHOD Sersy) R 53,08 BTN
C) Interconnects LANs located in city
2000 SN, TRLBIT G MY T eReRE

D). All of the above
230eDT DOTP
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68. LAN means
LAN 8 338 TR _, _
A) Local Area Network _ - B) Line Area Network
CREBC® HOOIR BFREE g HDO0ER SEFREE
C) Land Area Network | D) None
- R0 DO S RPN B
69. Connection to other documents in an internet can be ésiablished thfough
L03F UG, B83 Rdnen SR8 RosEsr FOREITD.
A) Weblink - B) Webpage  C) Browser D) Hyperlink
S o Serdes Vel BH DT
70. Thls is not a protocol |
BT WO @aeﬁmma‘ o), _
‘A) TCP/IP B) HTTP C) HtML ™ D) FIP
71. Website is collection of |
oUAT ) RARUE. : |
A) File B) Webpages  C) Email D) None of these
Sy DTREWRT - AoeeF O3IYTIR €2
72. VSNLis a Internet Service provxder in
ATOVION SN L BeBRS), L2030 1O Aead Zbem AR,
A) Viatnam 'B) India C) USA | D) Pakistan
$0303F FT” AR o] ot 2 Y TR
~ 73. Yahooisa ___onintemet. |
BOBTF VT 0XRBR SATS. B A
A) Helpengine B) Search Engine
RABHORE 03003, ' : Benys 0os,
C) Kemel T D) None
6239“0‘ o R v ebyial e;ao
74. The process of Sendlng/Recelvmg text etc. through network is
ot oR) BRI BO&RB TR ER Q083> 3030,
A) ‘Eiectronic mail . B) Tele printing
QTS ol | 630 @ogee
C) On-line database D) Telecom Processing
SRR AThiADle eS80 p,Bror®
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75. Which among these is not a search engine ?

76,

78.

79.

80.

YY), CRTTO Res*F Bowa” ©9e) 9

A) Google - B) ‘Alta vista

ratoTatedd 3670 QR
_ . & et
ISP stands for

D7 &. 0 DT B o
‘A) Internal Service Provider
QOLIGL” ROFA® FpH RO

C) Internal Service Protocol
QOBTT ADF R TR HRFICT

.Domain name of Indiais

P0IE By BB

A) au B) .us

URL stands for _

O3, T, . & QFTESD TRE

A) Uniform Resource Locator
0GR DRREATF Spdet3o’

C) Unigue Resource Locator
O30T DRREATE Sdesit”

Internet Service providers are _

i 10907/D 970
C) Lycos D) UNIX
SEor® CRRE,

- B) Internet Service Provider

ROLITR® ROFAT TR, B0

- D). Internet Service Protocol

QOLIOEEF RDF AT [P HINTICT

C) .in D) .uk

B) Universal Resource Locator

T O0ATRFET OReeRT T dadelio’
D) All of the above
B0edT DOFP

03I (BORTF ) R R BORBRHTD

A) BSNL
C) Tata Docomo
L30T TWRBREER

HTTP stands for
B3 8383, 0 LFTFE TRD

A) Hyper Text Transfer Protocol
REO° élé’s; 3,05 O P ERTS

C) Hyper Text Transfer Package
BHO® Y, DI TO° e

B) Idea
0RO

D) All of the above
F0eOT DR

B) High Text Transfer Protocol
B 485w T Fpens
D) None of the above
B0eDI oINPT &)




